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< 996,400
03 Al S THHI 7,200 3,500 3,700
Oot=&d ot X7 XgdotAFH A 7,200
as 3,600
< 3,600
PadE 2N XLt ZH AL 1,000,000 0 1,000,000
2 500,000
S 500,000
401 Al HIZ 201 8] 1,000,000 0 1,000,000
s 500,000
< 500,000
01 A& HI 995,000 0 995,000
P SHXT XNLSHEFZHAY 995,000
s 497,500
= 497,500
03 Al S HHI 5,000 0 5,000
OR4E RHXF XNLotEZH ALY 5,000
s 2,500
= 2,500
Sd 23X+ XNLotEEH AL 1,000,000 0 1,000,000
s 500,000
= 500,000
401 A& HI K 2018 1,000,000 0 1,000,000
s 500,000
< 500,000
01 A& HI 993,700 0 993,700
O8d Z3X7 XNgotAEH AL 993,700
s 496,850
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A= et A M ¢ RHATH Rt
M NAHSNG AT
Sl OoF & THoH Ol 2 ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 496,850
03 Al 2 THHI 6,300 0 6,300
O8d Z3X7 XNLstAFH AL 6,300
s 3,150
= 3,150
Z23td NP XLGHEFH AL 800,000 800,000 0
s 400,000
< 400,000
401 Al HIZ 201 8] 800,000 800,000 0
as 400,000
< 400,000
01 A& HI 795,000 795,000 0
O8std EstX+ XEotEZH ALY 795,000
s 397,500
< 397,500
03 AlE 2 THHI 5,000 5,000 0
OZ3d 3N+ XYotE EHI ALY 5,000
s 2,500
< 2,500
Sud 2YXT XY T ALY 800,000 0 800,000
ras 400,000
< 400,000
401 Al HI L 2 THHI 800,000 0 800,000
as 400,000
< 400,000
01 A& HI 795,000 0 795,000
O=z2d 22X+ XNLotEZH ALY 795,000
s 397,500
< 397,500
03 Al 2 THHI 5,000 0 5,000
Ozed 22XF XL ZH ALY 5,000
s 2,500
< 2,500
StEA SHEXF XLotdEH ALY 800,000 0 800,000
as 400,000
< 400,000
401 Al HI L 2 THHI 800,000 0 800,000
s 400,000
< 400,000
01 A& HI 795,000 0 795,000
OgtZzd st X+ X&otdZH ALY 795,000
s 397,500
< 397,500
03 Al 2 0HHI 5,000 0 5,000
OstZd sZX 7 XLotEZH ALY 5,000
s 2,500
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A= et A M ¢ RHATH Rt
M NAHSNG AT
Ch2l: SF& TH ol Ofl 2 AF (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| == 2,500
Olsd dEXF XNLot&EEH ALY 800,000 0 800,000
s 400,000
< 400,000
401 Al HI R 201 I 800,000 0 800,000
2 400,000
< 400,000
01 A& HI 795,000 0 795,000
O0lsd 83X 7 XNLotEZH ALY 795,000
s 397,500
< 397,500
03 Al =2 THHI 5,000 0 5,000
Ollsd 83X+ XNEotEZH ALY 5,000
s 2,500
< 2,500
HedE AN XLt EH ALY 800,000 0 800,000
s 400,000
< 400,000
401 Al HI L = Tl 800,000 0 800,000
z 400,000
< 400,000
01 A& tI 795,000 0 795,000
O2etd JA=XF XNLotEZH ALY 795,000
ras 397,500
< 397,500
03 A& S THHI 5,000 0 5,000
Oerd J&X+ XNEotEZH ALY 5,000
s 2,500
< 2,500
A DAMX TP NLSHEEH ALY 800,000 0 800,000
s 400,000
< 400,000
401 AlEHI R 2 OhYI 800,000 0 800,000
s 400,000
= 400,000
01 A& Bl 795,000 0 795,000
OMEE LR 7 XILotEZH ALY 795,000
s 397,500
< 397,500
03 A& S THHI 5,000 0 5,000
OWUE#E LRI = XI2otdE ALY 5,000
s 2,500
< 2,500
Dol 2 HHIAMY 1,680,000 11,292,960 19,612,960
s 1,400,000
< 280,000
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TH ot & M ¢ RHATH Rt
PR ESEe ES el s o g RSP
GH& TH of Ofl 24 AL (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
403 UHXSHHSA=0l& 1,680,000 11,292,960 29,612,960
s 1,400,000
< 280,000
01 X SHMA2E X 1,680,000 11,292,960 29,612,960
Ongel & FHlA 1,680,000
s 1,400,000
< 280,000
StEFHI DB = 1,200,000 1,200,000 0
otEJl= A&l =8 1,200,000 1,200,000 0
401 Al B2 28I 1,200,000 1,200,000 0
01 A& HI 1,193,040 1,193,040 0
Osdt&JIENHe =8 1,193,040
03 Al 204 6,960 6,960 0
Ost&lJl=AH &l =8 6,960
ot & = Xl 2tel At 32,346,000 29,925,000 2,421,000
= 2,500,000
s 23,952,000
EN 636,000
< 5,258,000
2otEZHI A 23,952,000 20,759,000 3,193,000
s 23,952,000
403 UHXSHHSA=0l& 23,952,000 20,759,000 3,193,000
s 23,952,000
01 X ESHHMA=LE L 23,952,000 20,759,000 3,193,000
OAGHE ZHIALY 23,952,000
s 23,952,000
X gotd R 2l AL 1,500,000 1,300,000 200,000
403 MtXISHH S0l & 1,500,000 1,300,000 200,000
01 XM A2E X 1,500,000 1,300,000 200,000
OX&otE = A2l At 1,500,000
St s Zel =8 3a=3Hl 26,000 26,000 0
201 et 26,000 26,000 0
01 At 22l 26,000 26,000 0
Ot & =gl 26,000
=Iot&E S X 22l At 2,500,000 3,700,000 A 1,200,000
= 2,500,000
403 A X EHHSKH20IA 2,500,000 3,700,000 A 1,200,000
= 2,500,000
01 X ESHHMA=2LE L 2,500,000 3,700,000 A 1,200,000
O=Jtot& S 2l At 2,500,000
= 2,500,000
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A= et A SN THATHE D
M NAZS IS LS
& StE KX 22l ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ANLotE 02X 24 1,000,000 1,000,000 0
401 Al HI K 201 I 1,000,000 1,000,000 0
01 A& Bl 994,000 994,000 0
OXgaotd 028X 24 994,000
03 A& S THHI 6,000 6,000 0
OXgstd 028X L4 6,000
St EHIALY 132,000 140,000 A 8,000
403 A X EHHS =0l A 132,000 140,000 A 8,000
01 AXSHHMA2E = 132,000 140,000 A 8,000
Ootd ZHlIALY 132,000
s A8 Ma=X A8 A 2,600,000 2,000,000 600,000
403 Mt SHHSA=0l& 2,600,000 2,000,000 600,000
02 S 2S0CHet A=A 2 & Ar 2,600,000 2,000,000 600,000
Ot=8 A7E M=Kl HEAMY 2,600,000
g3 FXZelAd 336,000 0 336,000
N 336,000
403 HtXISHH S0l & 336,000 0 336,000
N 336,000
01 AXISHHA=2E = 336,000 0 336,000
OE&d FA2cAY 336,000
EN 336,000
TEX HWEXTF |SX22lAY 300,000 0 300,000
EN 300,000
403 XIS E X201 & 300,000 0 300,000
EN 300,000
01 X SHHXN2E= 300,000 0 300,000
OFEd UEXNZ |KXZcAY 300,000
EN 300,000
StEAIBEZ g2t 900,000 900,000 0
StEAISEEE 02 900,000 900,000 0
SHEAMEZESNES 900,000 900,000 0
308 MtXIEHSOIH 900,000 900,000 0
02 8+N2F= 900,000 900,000 0
OotdAEZHTNEZ 900,000
MY 2L (AT ) 69,425 56,311 13,114
Jl=&l 69,425 56,311 13,114
Jl=34 69,425 56,311 13,114
201 et 22,175 20,401 1,774
01 AP 2teltl 22,175 20,401 1,774

_28_




raox nx

20 o EA FA AT
M HNHSHYH (R H L)
2l Jl=ZHl

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2

OJl2+8gtl 9,050
OPIE=T=2=3:] 13,125

202 (4] 47,250 35,910 11,340

1 = LH O B 47,250 35,910 11,340
OJla0 ] 47,250

WRES (Keim D) 17,545,625 17,240,775 304,850

WEHAH X = 17,545,625 17,240,775 304,850

WEAHHX &= 17,545,625 17,240,775 304,850

702012®E3 8,227,000 7,596,000 631,000

M JI=d&E2 8,227,000 7,596,000 631,000
OMHt2A2IIN2HES 8,227,000

705 Q=232 2 A 9,318,625 9,644,775 A 326, 150

03 Al - EXYHED S22 4= 6,800,000 6,800,000 0
Os1IloH =7 A (2005) 3,500,000
OZola& XN AFZ (2010 1XFH) 300,000
OZ2ol A& XN AFE (2010 2XF) 430,000
Ol as X MA A (2011) 1,200,000
Ol &sXMAAS (2012) 1,000,000
OZolaSRMNSALY 2XF XHEH(2010) 370,000

04 Al - SXEIHLED| 20 2==0] XtAHE 2,518,625 2,844,775 A 326, 150
Oz 21l 23 A (2005) 245,000
OZola&S XN AFZ (2010 1XFH) 73,500
OZol A& XIINAE AFS (2010 2XF) 105,350
Ol &s X MAAS (2011) 336,000
O=z=oll & XA AFH (2012) 315,000
Ol & XM A AD (2014) 300,000
OZola&SXIMNSALE 2K XHEH(2010) 77,700
Ol a& XM A AHS (2015) 300,000
Ol as X MA A (2016) 306,075
ORXletatdE "l ALY (2017) 200,000
OX ot ®EHHI ALY (2018) 260,000
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